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QUESTION 1

What is the minimum VMware Hypervisor version a server must be running in order to support the deployment of a
UnityVSA system?

A. 4.0
B.5.0
C.55
D. 6.0
Correct Answer: C

UnityVSA requirements include: VMWare ESXi 5.x, 6.x References: http://sweden.emc.com/products-solutions/trial-
software-download/unity-vsa.htm

QUESTION 2

A Unity storage system is installed with 10Gb optical SFPs in CNA ports 4 and 5 of both Storage Processors. The
storage administrator receives from a user to connect to the storage system through Fibre Channel. How can the
administrator address the request?

A. Configure all CNA ports for 16Gb Fibre Channel

B. Configure CNA port 4 of SPA and SPB as 10Gb optical Configure CNA port 5 of SPA and SPB as 16 Gb Fibre
Channel

C. Configure CNA port 4 and 5 of SPA as 10 Gb copper Configure CNA ports 4 and 5 of SPB as 16 Gb Fibre Channel
D. Once committed, CNA ports cannot be reconfigured without data loss.
Correct Answer: D

References: https://www.emc.com/collateral/TechnicalDocument/docu60144.pdf (page 5)

QUESTION 3

A storage administrator is tasked with configuring a density-based Host I/O policy based on the following requirements:
Resource Size: 100 GB LUN Density Limit: 20 IOPS

What is the total IOPS set by this policy?

A. 120

B. 1,200

C. 2,000
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D. 2,100

Correct Answer: A

QUESTION 4
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Automatic shrink operations will trigger storage space reclamation on which type of storage resources?

A. Thick file systems
B. Thick LUNs
C. Thin LUNs
D. Thin file systems

Correct Answer: D

Reference: https://www.emc.com/collateral/technical-documentation/docu91486-unity-family-release-notes.pdf (8)

QUESTION 5

What is the maximum number of file system snapshots that are supported by Unity?

A. 16
B. 96
C. 256
D. 512

Correct Answer: C
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